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HWRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 6,100 58,000
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPERES EMIETE 400 0 0 0 0 0 0 0 0 0 400]
ey BAAR—VERtL4— KELFHSRRERES 1,780 0 0 0 0 0 0 0 0 0 1,780]
'E’f;r‘ EESH1ERH 7,000 2,050 1,950 0 1,950 1,950 1,050 1,050 0 0 17,000}
EFRITHEIERE 0 6,000 6,000 0 6,000 6,000 6,000 6,000 7,050 6,950 50,000)
ERERLRE 0 900 0 0 0 0 0 0 0 0 900]
EEBIREE 0 0 900 0 0 0 0 0 0 0 900]
&t 19,030 15,700 15,600 0 14,700 14,700 13,800 13,800 13,800 13,700 134,830
WBREREH 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 6,100 58,000
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPEBESTMERE 400 0 0 0 0 0 0 0 0 0 400
o BARR—VERt4— KELFHESREEEES 1,780 0 0 0 0 0 0 0 0 0 1,780
il EEH2ESEH 5,000 3,050 3,050 0 3,050 2,550 2,550 1,450 0 0 20,700
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ﬂ%?ﬁ’ﬁﬁ%*if%?r 0 6,000 6,000 0 6,000 6,000 6,000 6,000 7,050 6,950 50,000
EEERE 0 900 0 0 0 0 0 0 0 0 900
EEHIREE 0 0 900 0 0 0 0 0 0 0 900
&t 17,030 16,700 16,700 0 15,800 15,300 15,300 14,200 13,800 13,700 138,530
HWRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 300 52,200
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850
LESPERES EMIETE 400 0 0 0 0 0 0 0 0 0 400
ey BAAR—VERt4— KELFHSRRERES 1,780 0 0 0 0 0 0 0 0 0 1,780
'E’fﬁ“‘r‘ EEHIEREH 5,000 3,050 3,050 0 2,550 2,550 2,050 1,250 0 0 19,500
ELRITIEIL S RET 0 0 0 0 0 0 0 0 0 0 0
ERERRE 0 900 0 0 0 0 0 0 0 0 900
EREENIREE 0 0 900 0 0 0 0 0 0 0 900
&t 17,030 10,700 10,700 0 9,300 9,300 8,800 8,000 6,750 950 81,530
WBREREH 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 6,100 58,000
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPEBESTZWHERE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRRtLS— KEAFHEREEGES 1,780 0 0 0 0 0 0 0 0 0 1,780
£ EEBES1EREH 9,000 3,050 2,550 0 1,550 1,550 1,050 1,050 0 0 19,800
14 ﬂ%?ﬁ’ﬁﬁ%*if%?r 0 6,000 6,000 0 6,000 6,000 6,000 6,000 7,050 6,950 50,000
EEERE 0 900 0 0 0 0 0 0 0 0 900
EEHIREE 0 0 900 0 0 0 0 0 0 0 900
&t 21,030 16,700 16,200 0 14,300 14,300 13,800 13,800 13,800 13,700 137,630
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HWRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 6,100 58,000
PTAS:t 650 650 650 0 650 650 650 650 650 650 5,850
SESPERES EMIETE 400 0 0 0 0 0 0 0 0 0 400
maa | BARK—VRREL I REAFHEREELES 1,780 0 0 0 0 0 0 0 0 0 1,780
£H BEMEHR2ERE 12,000 3,050 3,050 0 2,550 2,550 1,250 1,050 0 0 25,500
2% ELRITIEIL S RET 0 6,000 6,000 0 6,000 6,000 6,000 6,000 7,050 6,950 50,000
SR 0 900 0 0 0 0 0 0 0 0 900
EREENIREE 0 0 900 0 0 0 0 0 0 0 900
&t 24,030 16,700 16,700 0 15,300 15,300 14,000 13,800 13,800 13,700 143,330
WRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 300 52,200
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPEBESTMERE 400 0 0 0 0 0 0 0 0 0 400
r—ﬁn BARK—VERt 4 — $ELFHSREEEES 1,780 0 0 0 0 0 0 0 0 0 1,780
‘f‘éﬁ = F ARSI F (HEFA) RET 2,000 3,050 3,050 0 1,550 1,050 1,300 0 0 0 12,000
A ﬂ%‘?ﬁ’ﬁﬁﬁif%% 0 0 0 0 0 0 0 0 0 0 0
EEERE 0 900 0 0 0 0 0 0 0 0 900
EEHIREE 0 0 900 0 0 0 0 0 0 0 900
Bl 14,030 10,700 10,700 0 8,300 7,800 8,050 6,750 6,750 950 74,030
HWRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 300 52,200
PTAS:t 650 650 650 0 650 650 650 650 650 650 5,850
LESPERES EMIETE 400 0 0 0 0 0 0 0 0 0 400]
BER rar—vERt s A ERAHSREERES 1,780 0 0 0 0 0 0 0 0 0 1,780]
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2B EERTEILEREH 0 0 0 0 0 0 0 0 0 0 o}
HESEE 0 900 0 0 0 0 0 0 0 0 900]
EREENIREE 0 0 900 0 0 0 0 0 0 0 900
&t 16,030 10,700 10,700 0 8,300 7,800 8,050 6,750 6,750 950 76,030
WRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 300 52,200
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850]
SEEPERERERESE 400 0 0 0 0 0 0 0 0 0 400]
r—ﬁn BARK—VERt 4— $ELFHSREEEES 1,780 0 0 0 0 0 0 0 0 0 1,780
féﬁz SFEMEHIFE AH) R5t 3,000 3,050 3,050 0 2,550 2,550 1,800 0 0 0 16,000]
R ﬂ%;ﬁ’ﬁﬁ%*:z%%?r 0 0 0 0 0 0 0 0 0 0 o}
ERRRRE 0 900 0 0 0 0 0 0 0 0 900]
EEEIREE 0 0 900 0 0 0 0 0 0 0 900]
it 15,030 10,700 10,700 0 9,300 9,300 8,550 6,750 6,750 950 78,030]
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WBREREH 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 6,100 58,000

PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPEBESTMERE 400 0 0 0 0 0 0 0 0 0 400

e | BARK—VRRtL S — KEAFHEREELES 1,780 0 0 0 0 0 0 0 0 0 1,780
) EEBER1EREH 7,000 3,050 3,050 0 2,550 2,550 1,550 1,250 0 0 21,000
15 EERITIRILERE 0 6,000 6,000 0 6,000 6,000 6,000 6,000 7,050 6,950 50,000
EEERE 0 900 0 0 0 0 0 0 0 0 900
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&t 19,030 16,700 16,700 0 15,300 15,300 14,300 14,000 13,800 13,700 138,830

HWRERE 9,200 6,100 6,100 0 6,100 6,100 6,100 6,100 6,100 300 52,200
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